
 
 

1 | P a g e  

 

NABARD Development Assistant 
Model Question Paper 

 
English 

Directions (1-8): Read the following 
passage carefully and answer the 
questions given below them. 
 
The workers in Delhi were apparently 
asked to perform the task in violation of 
Section 7 of the Prohibition of 
Employment as Manual Scavengers and 
their Rehabilitation Act, 2013; a 
violation can be punished with two years 
of imprisonment or fine or both. Under 
the provision, no person, local authority 
or agency should engage or employ 
people for hazardous cleaning of sewers 
and septic tanks. Mechanised cleaning 
of septic tanks is the prescribed norm. 
But in spite of a well-funded programme 
such as the Swachh Bharat Abhiyan in 
operation, little attention is devoted to 
this aspect of sanitation. The 
requirements of worker safety and 
provision of safety gear for rare 
instances when human intervention is 
unavoidable are often ignored. Mere 
assertions by the Centre that it is 
pressing State governments to prosecute 
violators, therefore, ring hollow. More 
and more incidents are being reported of 
workers dying in septic tanks. In the 
absence of political will and social 
pressure, more lives could be lost 
because more tanks are being built in 
rural and urban areas as part of the 
drive to construct toilets. If the law on 

manual scavenging is to be effective, the 
penalties must be uniformly and visibly 
enforced. It is equally important for 
State governments to address the lack of 
adequate machinery to clean septic 
tanks. The Ministry of Drinking Water 
and Sanitation in its manual of 2016 on 
toilet design acknowledges that in rural 
areas, mechanical pumps to clear septic 
tanks are not available. In the southern 
States, sanitation has expanded along 
with urbanisation, but it has brought 
with it a higher number of deaths as 
workers clean septic tanks manually. For 
instance, Tamil Nadu recorded 144 
fatalities of workers engaged for septic 
tank cleaning in the past three years, 
according to official data. On the other 
hand, toilet designs proposed by the 
government include those in which fully 
composted waste must be removed from 
pits every two years. The Centre must 
ensure that this does not become a fresh 
avenue to oppress members of some 
communities who are expected to 
perform such work, reflecting social 
inequalities. India’s sanitation problem 
is complex, and the absence of adequate 
toilets is only one lacuna. The Swachh 
Bharat Abhiyan should make expansion 
of the sewer network a top priority and 
come up with a scheme for scientific 
maintenance that will end manual 
cleaning of septic tanks. The law should 
be enforced vigorously to eliminate 
manual scavenging in its entirety. 
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Q.1 Which part of India recorded higher 
number of deaths of manual scavengers? 
a) North 
b) South 
c) North east 
d) West 
e) East 
 
Q.2 Which of the following is not true 
about the passage? 
a) The law for scavengers are not 
implementing 
b) No one is giving importance to these 
life taking work. 
c) With Urbanization more people are 
engaging in cleaning septic tanks 
d) All are true 
e) None of these is true 
 
Q.3 According to passage, the fine for 
the violation of Manual Scavengers and 
their Rehabilitation Act, 2013 
a) Rs.5000 
b) Rs. 10,000 
c) 2 years imprisonment with two 
thousand rupees fine 
d) None of these 
e) Not mentioned in passage 
 
Q.4 What is the tone of the author? 
a) Nostalgic 
b) Cynical 
c) Critical 
d) Grandiose 
e) Introspective 
 
Q.5 What is the antonym of the word 
Vigorously? 
a) Subdued 
b) Fierce 
c) Aggressive 
d) Hard 

e) None of these    
Q.6 Which of the following best describe 
the phrase ring hollow? 
a) To sound or give the 
sense of being false 
b) Provide information 
c) Creating confusion 
d) A big hollow septic tank 
e) None of these 
 
Q.7 Which of the following is similar 
meaning of fatalities? 
a) Birth 
b) Benumb 
c) Perplex 
d) Lethalness 
e) None of these 
 
Q.8 What is the synonym of word 
Avenue? 
a) Arrangement 
b) Approach 
c) Abode 
d) Digs 
e) None of these 
 
Directions (9-15): Read each 
statement to find out whether there is 
any grammatical error or spelling error 
in it. 
 
Q.9 The Moderate and Christian 
Democrat parties/ in the centre-right 
Opposition seem to/ be gradually 
shedding/ there reservations about the 
Sweden Democrats/None of these. 
a) The Moderate and Christian 
Democrat parties 
b) be gradually shedding 
c) in the centre-right Opposition seem to 
d) there reservations about the Sweden 
Democrats 
e) none of these 
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Q.10 When there is much less light 
available, a weak /signal of motion from 
the ‘up’ neurons,/ coupled with a weak 
signal to any of the/ other directional 
cells can help the brain sense 
movement./None of these.  
a) coupled with a weak signal to 
any of the 
b) When there is much less light 
available, a weak 
c) signal of motion from the ‘up’ 
neurons 
d) other directional cells can help 
the brain sense movement 
e) None of these 
 
Q.11 Since this signalling is also 
responsible/ for retina regeneration in 
zebrafish, / the researchers are trying to 
understand why / the signalling do not 
bring about retina regeneration in 
humans./None of these. 
a) Since this signalling is also 
responsible 
b) the researchers are trying to 
understand why 
c) the signalling do not bring about 
retina regeneration in humans 
d) for retina regeneration in zebrafish 
e) None of these 
 
Q.12 The BJP now holds nine out of the 
10 reserved seats/ and a tie-up between 
the Congress and BSP/would have been 
meant heavy damage to the BJP in/ 
those seats and in others with a 
significant SC voter base./ None of 
these. 
a) would have been meant heavy 
damage to the BJP in 

b) The BJP now holds nine out of the 10 
reserved seats 
c) those seats and in others with a 
significant SC voter base 
d) and a tie-up between the Congress 
and BSP 
e) none of these 
 
Q.13 The announcement flies in the face 
of a concerted move/in the Centre to 
nullify a Supreme Court ruling in/March 
this year which angered the/SCs and STs 
because they saw it as a dilution of the 
law meant for their safety/ None of 
these  
a) The announcement flies in the face of 
a concerted move 
b) SCs and STs because they saw it as a 
dilution of the law meant for their safety 
c) in the Centre to nullify a Supreme 
Court ruling in 
d) March this year which angered the 
e) None of these 
 
Q.14 But amongst them there must also 
/be the people who are drafting/ the 
policies, fabricating the false cases,/ 
writing the orders, attending to the 
paperwork of hell. /None of these 
a) writing the orders, attending to the 
paperwork of hell 
b) But amongst them there must also 
c) be the people who are drafting 
d) the policies, fabricating the false cases 
e) None of these 
 
Q.15 She takes the lead in everything/ 
except maybe in dealing to/ her 
excruciating past,in which /she takes an 
unhealthy amount of pleasure./ None of 
these 
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a) she takes an unhealthy amount of 
pleasure 
b) except maybe in dealing to 
c) She takes the lead in everything 
d) her excruciating past,in which 
e) None of these 
 
Directions (16-20): Rearrange the 
following sentences in the proper 
sequences to form a meaningful 
paragraph; then answer the questions 
given below them. 
 
A. Apart from the gap in education, 
there is very little to differentiate the 
peasant castes from the upper castes. 
B. Which suggests that Jats in Haryana, 
Marathas in Maharashtra, and the 
Patels in Gujarat are, in many respects, 
as well off as the forward castes. 
C. Our analysis corroborates the 
evidence put forward by other scholars 
using the India Human Development 
Survey (IHDS) data. 
D. In some respects, these castes have 
traditionally enjoyed greater dominance 
than any other caste group in their 
respective states. 
E. However, given that, the IHDS data is 
not representative at the state level, any 
state-level estimate based on that data 
set is tentative, at best. 
 
Q.16 Which of the following will be the 
SECOND sentence? 
a) B 
b) E 
c) A 
d) C 
e) D 
 
Q.17 Which of the following will be the 
FOURTH sentence? 

a) D 
b) A 
c) E 
d) C 
e) B 
 
Q.18 Which of the following will be the 
FIRST sentence? 
a) D 
b) B 
c) A 
d) C 
e) None of these 
 
Q.19 Which of the following will be the 
LAST sentence? 
a) B 
b) D 
c) A 
d) C 
e) None of these 
 
Q.20 Which of the following will be the 
THIRD sentence? 
a) C 
b) D 
c) E 
d) A 
e) B 
 
Directions(21-26): Each question 
below has two blanks, choose the 
appropriate words from the options 
given. 
 
Q.21 This comes even as investigating 
agency Enforcement Directorate is 
intensifying its probe into the 
______money laundering of millions of 
dollars at Mack Soft Tech and advising 
the resolution professional to alert the 
prospective resolution applicants 
regarding the ongoing ____. 
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a) Alleged, Work 
b) Invested, process 
c) Alleged, Probe 
d) Black, investigation 
e) None of these 
 
Q.22 Chief Minister Naveen Patnaik 
held a review meeting and _____ the 
officials to keep a close watch on the 
situation and take steps to ____ no loss 
of life. He also asked them to arrange 
adequate relief materials. 
a) Ordered, check 
b) Directed, Ensure 
c) Asked, remove 
d) Confirmed, harm 
e) None of these 
 
Q.23 Retinal circuits that were thought 
to be unchanging and programmed for 
____ tasks are adaptable to different 
light conditions. However, scientists 
have now identified _____ the retina 
reprograms itself for low light. 
a) Particular, when 
b) New, how 
c) Various, why 
d) Specific, how 
e) None of these 
 
Q.24 The Biocon-Mylan JV had 
announced plans to ______ and 
market five highly complex biosimilar 
drugs and insulin copies for _______ 
and regulated markets like the US and 
Europe.  
a) Develop, emerging 
b) Create, enhanced 
c) Develop, energetic 
d) Renew, challenging 
e) None of these 
 

Q.25 It emphasised that exit from the 
bloc would _____ costs for Britain, just 
as the benefits of membership entailed 
_____. 
a) Criticize, sensorship. 
b) Allure, obligations 
c) Mix, corruption 
d) Involve, obligations 
e) None of these 
 
Q.26 We found that pikas ____ in such 
areas had a lower diversity of plants in 
their diets since predation risks made 
them more _____. 
a) Habbit, interesting 
b) Dwelling, cautious 
c) Life, dangerous 
d) Body, vulnerable 
e) None of these 
 
Directions (27-32): In the following 
passage there are blanks, Each of which 
has numbered. There are few words 
against this number. Fill the appropriate 
word in the blanks. 
 
Then Hanneli came to pick me up, and 
we went to school. (..27..) recess I 
passed out cookies to my teachers and 
my class, and then it was time to get 
back to work. I didn't (..28..) home until 
five, since I went to gym with the rest of 
the class. (I'm not allowed to take part 
because my shoulders and hips tend to 
get dislocated.) As it was my birthday, I 
got to decide which game my classmates 
would play, and I chose volleyball. 
(..29..) they all danced around me in a 
circle and sang "Happy Birthday." When 
I got home, Sanne Ledermann was 
already there. Ilse Wagner, Hanneli 
Goslar and Jacqueline van Maarsen 
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came home with me after gym, since 
we're in the same class. Hanneli and 
Sanne used to be my two best friends. 
People who (..30..) us together used to 
say, "There goes Anne, Hanne and 
Sanne." I only met Jacqueline van 
Maarsen when I started at the Jewish 
Lyceum, and now she's my best friend. 
Ilse is Hanneli's best friend, and Sanne 
goes to another school and has friends 
there. They gave me a beautiful book, 
Dutch Sasas and Lesends, but they gave 
me Volume II by mistake, so I 
exchanged two other books for Volume 
I. Aunt Helene brought me a puzzle, 
Aunt Stephanie a darling brooch and 
Aunt Leny a terrific book: Daisy Goes to 
the Mountains. 
This morning I (..31..) in the bathtub 
thinking how wonderful it would be if I 
had a dog like Rin Tin Tin. I'd call him 
Rin Tin Tin too, and I'd take him to 
school with me, where he could stay in 
the janitor's room or by the bicycle racks 
when the weather was good. 
I had my birthday party on Sunday 
afternoon. The Rin Tin Tin movie was a 
big hit with my classmates. I got two 
brooches, a bookmark and two books. 
I'll start by saying a few things about my 
school and my class, beginning with the 
students. 
Betty Bloemendaal looks kind of poor, 
and I think she probably is. She lives on 
some (..32..) street in West Amsterdam, 
and none of us know where it is. She 
does very well at school, but that's 
because she works so hard, not because 
she's so smart. She's pretty quiet. 
 
Q.27 
a) Hence 
b) Despite 

c) During 
d) At the time of 
e ) None of these 
 
Q.28 
a) Went 
b) Reach 
c) Came 
d) Arrive 
e) Called 
 
Q.29 
a) Afterward 
b) Henceforth 
c ) Although 
d) Even though 
e) None of these 
 
Q.30 
a) Listen 
b) Watch 
c) Seen 
d) Looked 
e) Saw 
 
Q.31 
a) Lie 
b) Lay 
c) Lie down 
d) Laid 
e) None of these 
 
Q.32 
a) Famous 
b) Renowned 
c) Hazzle 
d) Clear 
e) Obscure 
 
Directions (33-36): Read the 
following sentence and make it a 
complete sentence with the option given 
below. 
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Q.33 Among these are issues such as the 
right of the(A)/from the citizens, 360-
degree profiling of individuals through 
the unique markers of Aadhaar(B)/the 
bench is expected to decide on a number 
of petitions challenging (C)/state to ask 
for biometrics(D)/exclusion from 
welfare-delivery and other larger privacy 
questions that come with having 
centralised databases of information on 
citizens(E) 
a) ACBD 
b) CDEB 
c) ADBE 
d) AEDC 
e) All are in sequence 
 
Q.34 Unique Identification Authority of 
India ecosystem are(A)/the problems 
with Aadhaar and the broader(B)/to 
large-scale welfare exclusions(C)/ 
allowed the use of Aadhaar in a number 
of government schemes(D)/are 
numerous and range from security and 
privacy(E) 
a) ABDC 
b) BAEC 
c) ADCB 
d) None of these 
e) All are in sequence 
 
Q.35 The judgement had equated 
(A)/the political ideology of 
Hindutva(B)/ with Hinduism, and said 
Hindutva (C)does not in itself depict an 
attitude hostile(D)/ to people practising 
other religions(E) 
a) ADBE 
b) BCDA 
c) AEBC 
d) BCDA 

e) All in correct sequence 
 
Q.36 for his steadfast commitment to a 
secular state(A)/ could not die – with 
the Mahatma’s assassination(B)/some 
Hindu fanatics never forgave Mahatma 
Gandhi(C)/ But the idea of a secular 
India did (D)/ secularism wasn’t an 
alien concept that India(E) 
a) BCDA 
b) CAED 
c) CBAE 
d) DCAE 
e) None of these 
 
Directions (37-40) Below are some 
words given find out the correct 
meaning of the word from the given 
options.  
 
Q.37  Pellucid 
a) Limpid 
b) Excessive 
c) Push 
d) Transmit 
e) None of these 
 
Q.38 Remorse 
a) Apathy 
b) Mediocrity 
c) Guilt 
d) Indifference 
e)None of these 
 
Q.39 Soliloquy 
a)Discourse 
b) Inherent 
c) Argument 
d) Monologue 
e) None of these 
 
Q.40 Banality 
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a) Witticism 
b)Originality 
c)Epigram 
d)Staleness 
e)None of these 
 

Reasoning. 

Direction (41-45): study the following 
information carefully and answer the 
questions given below. 
 
Eight employees Puja, Quinto, Roshni, 
Suresh, Tushar, Umesh, Vina, Wajid are 
sitting around a square table in such a 
way that four of them sit at the four 
corners while four sit in the middle of 
each of the four sides. Those who sit are 
the four corners faces the center and 
those who are in middle of table faces 
outside. 
Vina sits second to the right of Roshni. 
Roshni sits in the middle of one of the 
side of table. 
Only two people sit between Vina and 
Quinto. Suresh is one the immediate 
neighbor of Quinto. 
Tushar sits second to the left of Suresh. 
Puja sits second to the left of Umesh. 
Vina is not the immediate neighbor of 
Umesh. 
 
Q.41 What is the position of Vina with 
respect to Quinto? 
A. Second to the left 
B. Fifth to the left 
C. Third to the left 
D. Second to the right 
E.  Fifth to the right 
 
Q.42 Who sits second to the left of 
Wajid? 
A. V 

B. T 
C. Q 
D. S 
E. U 
 
Q.43 Which of the following is true 
regarding Puja? 
A. Wajid sits second to the left of Puja. 
B. Both Tushar and Roshan are 
immediate neighbors of Puja. 
C. Only three people sits between Puja 
and Suresh. 
D. Puja sits in the middle of the one of 
the sides. 
E. None of these 
 
Q.44 Four of the following are alike in 
certain way and so form a group. Which 
one is that doesn’t belong to that group? 
A. T 
B. Q 
C. S 
D. R 
E.  V 
 
Q.45 How many people sit between 
Roshni and Tushar when counted from 
the right of Roshni? 
A. None 
B. One 
C. Four 
D. Two 
E. Three 
 
Directions (46-50): In each of the 
questions below are given two/three 
statements followed by two conclusions 
numbered I and II. You have to take the 
given statements to be true even if they 
seem to be at variance with commonly 
known facts. Read all the conclusions 
and then decide which of the given 
conclusion logically follows from the 
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given statements disregarding 
commonly known facts. 
Give answer 
A. If only conclusion I follows 
B. If only conclusion II follows 
C. If either conclusion I or II follows 
D. If neither conclusion I nor II follows 
E. If both conclusion I and II follows 
 
46. Statements: 
Some rumors are true. 
All rumors are facts. 
All facts are results. 
Conclusion: 
I. All rumors are results 
II. All true being result is a possibility 
 
47. Statements: 
All animations are cartoon. 
Some cartoons are mystery. 
No mystery is a horror. 
Conclusion: 
I. No horror is an animation. 
II. At least some mysteries are 
animations. 
 
48. Statements: 
No creme is cool. 
All powders are white. 
Some creme are white. 
Conclusion: 
I. At least some powder are creme. 
II. At least some powder are not crème. 
 
49. Statements: 
All honey are sweet. 
Some sweets are bitter. 
No bitter is tasty. 
Conclusion: 
I. Some sweets are tasty. 
II. No Sweet is tasty. 
 

50. Statements: 
No deal is good. 
All good is fake. 
Conclusion: 
I. No fake is a deal. 
II. All deals being fake is a possibility. 
 
Directions (51-53): Read the series 
carefully and answer the questions. 
 
6 * 4 8 F $ P % 9 U & W 7 A C ! 1 J ^ I ? 
R / 3  
 
Q.51 If all the numbers are dropped 
from the series then which is the sixth 
element of the right of the first vowel 
from the left end? 
a) ? 
b) ^ 
c) J 
d) R 
e) S 
 
Q.52 What is sum of numbers which are 
preceded by symbols? 
a) 15 
b) 17 
c) 13 
d) 10 
e) None 
 
Q.53 How many alphabets are there in 
between fourth symbol from the left end 
and second largest number? 
a) Seven 
b) Five 
c) Two 
d) One 
e) Three 
 
Directions (54-58): In these 
questions, there is a relation between 
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different elements is shown in the 
statements. The statements are followed 
by two conclusions. Give appropriate 
answer. 
 
Q.54 Statements: 
T<U<=Y; J>=S=U<=F 
Conclusions: 
I. F>Y 
II. T=J 
a) Only i 
b) Either i or ii 
c) Neither i nor ii 
d) Only ii 
e) Both i and ii 
 
Q.55 Statements: 
P<=E<N>=Q>=Z; N<=S 
Conclusions: 
I. S>P 
II. Z<=S 
a) Both i and ii 
b) Only i 
c) Neither i nor ii 
d) Either i or ii 
e) only ii 
 
Q.56 Statements: 
K>C=J>=M; C=Q<=V 
Conclusions: 
I. M<V 
II. V=M 
a) Both i and ii 
b) Only i 
c) Neither i nor ii 
d) Either i or ii 
e) Only ii 
 
Q.57 Statements: 
A<B<=C=D; M>=J>C; E>=H>=N=M 
Conclusions: 
I. J>B 
II. M>D 

a) Only i 
b) Either i or ii 
c) Neither i nor ii 
d) Only ii 
e) Both i and ii 
 
Q.58 Statements: 
A<B<=C=D; M>=J>C; E>=H>=N=M 
Conclusions: 
I. E>=M 
II. C<=H 
a) Only i 
b) only ii 
c) bothi and ii 
d) Either i or ii 
e) Neither i nor ii 
 
Direction (59-62): Study the 
following information carefully and 
answer the questions given below. 
 
Pogo, CN, Disney, Nick, Hungama, Star 
kids and Disney XD aired different 
shows viz. Shinchan, Doraemon, 
Pokemon, Ninja Hatori, Chotabheem, 
Scooby doo and looney toons on 
different days of week from Monday to 
Sunday but not necessarily in the same 
order. 
Pogo aired show Ninja Hatori on 
Wednesday. Hungama doesn’t aired 
shinchan or Pokemon but aired on the 
next day on which Nick aired the show 
Scooby doo. Disney XD aired show 
Chotabheem on Friday. Star Kids aired 
show on Monday but not Pokemon or 
Looney toons. Disney channel aired 
show Shinchan but not on Tuesday. 
Pogo doesn’t air Looney toons. 
 
Q.59 Which of the following 
combination is true? 
a) Nick – Tuesday – Pokemon 
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b) Hungama – Wednesday – 
ChotaBheem 
c) Star kids – Monday – Doraemon 
d) Disney XD – Thursday – Loony toons 
e) None of these 
 
Q.60 Which among the following aired 
show on Saturday? 
a) Hungama 
b) Pogo 
c) CN 
d) Nick 
e) None of these 
 
Q.61 Disney aired show on which of the 
following day? 
a) Sunday 
b) Saturday 
c) Tuesday 
d) Thursday 
e) None of these 
 
Q.62 On which of the following day 
Hungama aired the show? 
a) Saturday 
b) Tuesday 
c) Sunday 
d) Can’t be determine 
e) None of these 
 
Direction (63-66): Study the 
following information carefully and 
answer the questions given below. 
In a certain code language 
‘Wake up early morning as’ is coded as 
‘egypuw ex’ 
‘Early to bed’ is coded as ‘xtuwyvaznt’ 
‘Morning is beautiful’ is coded as 
‘azyprn’ 
‘Good people are up’ is coded as 
‘egntcqgk’ 
 

Q.63 What is the code for ‘beautiful’? 
a) Yp 
b) Eq 
c) Ex 
d) Rn 
e) Gk 
 
Q.64 What does conde ‘eq’ stand for in 
the given code language? 
a) Early 
b) Morning 
c) Wake 
d) Up 
e) Good 
 
Q.65 What will be the code for ‘Early’ in 
the given code language? 
a) ai 
b) uw 
c) yp 
d) eq 
e) xt 
 
Q.66 What does the code ‘gk’ Stands for? 
a) People 
b) Are 
c) To 
d) Either a) or c) 
e) Either a) or b) 
 
Direction (67-70) : Study the 
following information carefully and 
answer the questions given below. 
 
364    455   745   268   153    834 
 
Q.67 When 3 is added to even digit of 
each number which will be the second 
highest number? 
a) 834 
b) 745 
c) 268 
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d) 153 
e) 364 
 
Q.68 If 1 is subtracted from each last 
digit of number then which will be the 
smallest number? 
a) 455 
b) 153 
c) 268  
d) 834 
e) 364 
 
Q.69 How many numbers are there 
which is divisible by 4? 
a) one 
b) two 
c) three 
d) All are divisible 
e) None of these  
 
Q.70 When middle digit is multiplied by 
2 and resultant is added to the number 
then which of the following is second 
smallest number? 
a) 268 
b) 455 
c) 365 
d) 153 
e) None of these 
 

Quantitative Aptitude 
Direction (71-75): What should come 
in place of the question mark (?) in the 
following number series? 
 
Q.71 584   ? 608   527   648   479 
a) 480 
b) 525   
c) 559 
d) 578 
e) 479 
 

Q.72 ? 13  37  170.5  1015  7628.5 
a) 5 
b) 5.5 
c) 4.5 
d) 9 
e) 8 
 
Q.73 2  7  23  49  149  ? 
a) 250 
b) 301 
c) 289 
d) 256 
e) None of these 
 
Q.74 205  989   ?     848   487   743 
a) 525 
b) 625 
c) 740 
d) 364 
e) 277 
 
Q.75 1156   2197   1296   3375   ? 4913 
a) 1521 
b) 4096 
c) 1444 
d) 1728 
e) None of these 
 
 
Directions (76-80): Study the 
following information carefully and 
answer the questions given below 
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Q.76 What is the ratio of total 
production of lunch boxes in company 
A, B and C together to the total 
production of water bottles in same 
companies? 
a) 14:16 
b) 26:27 
c) 26:23 
d) 25:26 
e) 14:17 
 
Q.77 What is the approximate 
percentage increase in the production of 
two products from company D to 
company E? 
a) 30% 
b) 25% 
c) 29% 
d) 35% 
e) 27% 
 
Q.78 Which of the following company 
indicate the lowest percentage rise or 
fall from previous company in 
production of water bottle? 
a) Company C 
b) Company D 
c) Company B 

d) Company E 
e) None of these 
 
Q.79 The total production of lunch boxes 
and water bottles together for the 
company A, B and C is what percent of 
total production of the both lunch box 
and water bottle for company E and F? 
a) 83.45% 
b) 80.32% 
c) 88.77% 
d) 79.87% 
e) None of these 
 
Q.80 What is the difference between the 
average production of lunchbox for the 
given year to the average production of 
water bottles? 
a) 47.5 
b) 35 
c) 25 
d) 27.5 
e) None of these 
 
Q.81 Kriti lent sum of money at 
compound interest at the rate of 10% per 
annum is paid back in three equal 
annual installments of Rs. 2662. Find 
the sum of money. 
a) Rs.6620 
b) Rs. 5620 
c) Rs. 6700 
d) Rs. 5980 
e) None of these 
 
Q.82 A train covers first 18 km of its 
journey in 25 minutes and the 
remaining 12 km in 15 minutes. What is 
the average speed of the truck? 
a) 48 km/h 
b) 35.6 km/h 
c) 22.5 km/h 
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d) 18 km/h 
e) None of these 
 
Q.83 A boat takes 5 hours to travel from 
place X to place Y downstream and back 
from Y to A upstream. If the speed of the 
boat in still water is 6 kmph what is the 
distance between the two places? 
a) 20 km 
b) 18 km 
c) 9 km 
d) Data not adequate 
e) None of these 
 
Q.84 The average marks obtained by 
120 candidates was 42. If the average 
marks of the passed candidates was 65 
and that of failed candidates was 35, 
then what is the number of candidates 
who passed the examination? 
a) 14 
b) 25 
c) 28 
d) 30 
e) 45 
 
Q.85 Find the probability that the letters 
C, O, F,N,R,I,M are rearranged to form 
word CONFIRM? 
a) 1/120 
b) 1/5040 
c) 1/720 
d) 1/40320 
e) None of these 
 
Direction (85-88): In each of the 
following problems, there is one 
question and two statements given 
below the question. You have to decide 
whether the data given in the statements 
is sufficient to answer the question. read 
all the statements carefully and find 
which of the statements is/are sufficient 

to answer the given question. Choose the 
correct alternative in each question. 
 
Q.85 what is the age of Sudha? 
I. Sudha's age is thrice the age of her 
cousin Ram. 
II. Sudha’s age is half the age of Ram 
and sum of their ages is 54 years. 
a) Either i or ii 
b) i only 
c) Neither i nor iii 
d) bothi and ii 
e) ii only 
 
Q.86 What is the ratio of Interest pcpa? 
I. Simple interest per annum is Rs. 1650. 
II. The difference between CI and SI 
earned on this amount in three years is 
Rs.700. 
a) i only 
b) ii only 
c) Either i or ii 
d) Neither ior ii 
e) Both i and ii 
 
Q.87 Ratio of age of Anita and Barkha is 
4:6. Anita will be 28 years old after 4 
years. 
Quantity I – The present age of Barkha 
Quantity II – 4 years hence the age of 
Anita 
a) Quantity II < Quantity I 
b) Quantity I < Quantity II 
c) Quantity II >= Quantity I 
d) Quantity I >= Quantity II 
e) None of these 
 
Q.88 What is area of rectangular room? 
I. The ratio of length and breadth of 
room is 4:8. 
II. The perimeter of the room is 800m 
and the breadth of room is 50m. 
a) i only 
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b) Either i or ii 
c) Neither i nor iii 
d) bothi and ii 
e) ii only 
 
Direction (89-96): What value should 
come in place of question mark(?) in the 
following questions? 
 
Q.89 root 1524 + 35% of 860 – 270 = 
45+(?)^2 
a) 35 
b) 5 
c) 25 
d) 9 
e) 7 
 
Q.90 229% of 750.08+85% of 969.98 + 
1347.98 =? 
a) 4422.5 
b) 3452.75 
c) 4025.50 
d) 5557.25 
e) None of these 
 
Q.91 under root 8549 *(7.95)^3-
127.99=? 
a) 500 
b) 477 
c) 450 
d) 621 
e) 581 
 
Q.92 175/14*112/25*3.75/1.5 =? 
a) 5 
b) 2/7 
c) 4.5 
d) 5.25 
e) 2.5 
 
Q.93 8927+129.59*356.09=?+3455.779 
a) 65841 

b) 51751 
c) 47591 
d) 75481 
e) None of these 
 
Q. 94 { (96/4 )+ (945/35) + (4260/29) 
}/39.999= ? 
a) 7.25 
b) 20 
c) 4.85 
d) 2.5 
e) None of these 
 
Q. 95  under root 1691*under root 2214 
= ?*10.998 
a) 8 
b) 1.38 
c) 4.82 
d) 7.491 
e) None of these 
 
Q. 96 25% of under root 13226 * 2/7 of 
45 + 2/4 of 5727.984 = ? 
a) 3098.5 
b) 2500.84 
c) 3495.6 
d) 2905.6 
e) None of these 
 
 
Q. 97 6/7*4/36*49/2 = ? 
a) 3/7 
b) 4/7 
c) 6/9 
d) 2/3 
e)7/3 
 
Direction (97-100): In these 
questions, two equations are given. 
Solve the equations and mark the 
appropriate answer.  
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Q.97 
 I. 9x^2 – 5x -18 =0 
II. 7y^2 – 61y – 18 =0 
a) x<y 
b) x>=y 
c) x<=y 
d) x>y 
e) Relation between x and y cannot be 
established 
 
Q.98 
 I. 38x^2 -3x -11 = 0 
 II. 28y^2 +32y +9 = 0 
a) x<y 
b) x>=y 
c) x<=y 
d) x>y 
e)  Relation between x and y cannot 
be established 
 
 

Q.99 
I. x^2 = 81 
II. y^2 -18y + 81 = 0 
a) x<y 
b) x>=y 
c) x<=y 
d) x>y 
e) Relation between x and y cannot be 
established 
 
Q.100 
 I. 8x^2 +27x + 22 = 0 
II. 4y^2 – 25 – 56 = 0 
a) x<y 
b) x>=y 
c) x<=y 
d) x>y 
e) Relation between x and y cannot be 
established 
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